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Acceleration
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Acceleration

FHHIZER : 5.16 F5E 35.4606 FEFE 134.0548

Velocity(B.P.F=0.1-10Hz)
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Velocity(B.P.F=0.1-10Hz)
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Velocity(B.P.F=0.1-10Hz)
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Acceleration

SHAER - 5.42 FEE 354902 #2F 133.7582

Velocity(B.P.F=0.1-10Hz)

459.6 -NS PGA=459.60000(gal) 204 -NS PGV=20.10000(cm/s)
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—459.6 - -20.1 -
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Acceleration Velocity(B.P.F=0.1-10Hz)
-170.4 - —24.1 -
2724 _EW PGA=272.40000(gaI) 13.2 _EW PGV=13.20000(cm/s)
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ZEH AT JRAG R (TTRO06) sHAIEEE : 4.58 &1 35.5106 #2)F 133.6303

Acceleration Velocity(B.P.F=0.1-10Hz)
2979 -NS PGA=297.90000(gal) 10.9 -NS PGV=10.90000(cm/s)
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Acceleration Velocity(B.P.F=0.1-10Hz)
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-119.4 - —14.1 -
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Acceleration Velocity(B.P.F=0.1-10Hz)
180.2 -NS PGA=180.20000(gal) 140 -NS PGV=14.20000(cm/s)
0.0 0.0
-180.2 - —-14.2 -
264.0 _EW PGA=264.00000(gaI) 19.6 _EW PGV=19.60000(cm/s)
—_ 2
& 0.0 —M}WWWWWWM E 001
-264.0 - -19.6 -
186.4 -UD PGA=186.10000(gal) 93 -UD PGV=9.30000(cm/s)
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—1861 T T T T T 1 _93 T T N T T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 4—— _ 1000.0 4+— < _—
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T 35.4403 FRFE 133.3806
Velocity(B.P.F=0.1-10Hz)

104.7 -NS PGA=104.70000(gal) 8.5 -NS PGV=8.50000(cm/s)
0.0 - AyWiessp 0.0 _‘N\WW‘VNWW
-104.7 - -8.5
153.8 -EW PGA=153.80000(gal) 96 -EW PGV=9.60000(cm/s)
— (2]
g oo ﬂwwww.wr - E 00
-153.8 - -9.6 -
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Acceleration Velocity(B.P.F=0.1-10Hz)
603 -NS PGA=60.30000(gal) 6.4 -NS PGV=6.40000(cm/s)
0.0 0.0
-60.3 - -6.4 -
79.9 -EW PGA=79.90000(gal) 6.7 EW PGV=6.70000(cm/s)
—_ 12
[ ] = .
S 00 E 00
-79.9 - -6.7 -
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Acceleration

0.0
_78.2
76.7 -EW PGA=76.70000(gal)
= o
—76.7 -
756 -UD PGA=75.60000(gal)
0.0 -WWMW =
-75.6 , : : :
0.0 10.0 20.0 30.0 40.0
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] —_ W |
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©
0]

Acc.(Gal)

Acceleration

AHHIEREE - 4.26

JE 35.5449 R 134.2848
Velocity(B.P.F=0.1-10Hz)

g4 NS PGV=8.40000(cm/s)
0.0
-8.4 -
46 -EW PGV=4.60000(cm/s)
0.0
-4.6 -
41 -UD PGV=4.10000(cm/s)
0.0 _WWWMW
_41 1 T T 1
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000.0 4=— s e
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e \ p—
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Velocity(B.P.F=0.1-10Hz)

89.0 NS PGA=89.20000(gal) 5.4 -NS PGV=5.40000(cm/s)
0.0 0.0 |
-89.2 - -5.4
75.5 -EW PGA=75.50000(gal) 28 -EW PGV=2.80000(cm/s)
w
0.0 - E 0.0
o
-75.5 - -2.8-
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-_ EW | -_ EW |
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01 02 05 10 20 50 10.0 01 02 05 10 20 50 10.0
Period(sec) Period(sec)



S I PR AR B TR 1R) RHAIEREE : 4.44

Acceleration

Y
/l

T 35.3430 FREE 134.2076
Velocity(B.P.F=0.1-10Hz)

177.9 _NS PGA=177.90000(93|) 71 _NS PGV=7.10000(cm/s)
0.0 W - 0.0
-177.9 - -71 -
179.4 -EW PGA=179.40000(gal) 4.6 -EW PGV=4.60000(cm/s)
—_— 2]
& 0.0 i 4 £ 0.0 ——’«WWMMWWMW
-179.4 - 4.6 -
103.8 _ub PGA=103.80000(gal) 1.6 _ub PGV=1.60000(cm/s)
0.0 0.0
—1038 T T T 1 _16 T T 1 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 + === : = 1000.0 4 — : '
FAC resp. - NS | 1 . resp. - NS |
— EW | —_— EW |
1000.0 4= u 100.0 5
_ N\ — =
3 AN £ W\
S 1000 NN S 100+ A =
g - -‘\~‘\\777777”§ ] e —
10.0 \A\'_\ . 1.0
] MU ]
A\
1.0 : ™ 0.1 . .
01 02 05 10 20 50 10.0 01 02 05 10 20 50 10.0
Period(sec) Period(sec)
1. N > N ESRN:NISE . e=% Y
S BT EIRHT IR (B TRR) FHAREE @ 3.74 K& 35.3296 #%JE 134.1138

Acceleration

107.6 _NS PGA=107.60000(gaI)
0.0 s
-107.6 -
93.3 EW PGA=93.30000(gal)
8 001
-93.3 -
66.0 -UD PGA=66.00000(gal)
0.0 A—W: bt
-66.0 T T T T T 1
0.0 10.0 20.0 30.0 40.0
10000.0 4—= ======: —— =3
ACC. resp. - NS |
, i Ew |
1000.0
— ﬂ >
© ~
A v 1S
g 1000 | \‘. L LS
< ;\\. ~
100 N\
\\ N
V'\q
1.0 . . , . N
0.1 0.2 05 1.0 20 5.0 10.0

Period(sec)

Velocity(B.P.F=0.1-10Hz)

2.4 -NS PGV=2.40000(cm/s)
0.0 1
-2.4 -
o5 EW PGV=2.50000(cm/s)
@
g 0.0
o
-2.5 -
1.g -UD PGV=1.80000(cm/s)
0.0 ‘/—WWWWW
—18 T T T T T T T 1
0.0 10.0 20.0 30.0 40.0
1000.0 +— == : ————===-3
ﬂteﬂje—s;.-. — NS
T —_— EW
100.0
10.0 4=—aci —
e e —
SCAC
N
1.0
0.1 —T T —T
0.1 0.2 05 1.0 20 5.0 10.0
Period(sec)



S EIHTE (R TAE) FHERE

Acceleration

3.56

Y
/l

T 35.4778 RRFE 134.2725
Velocity(B.P.F=0.1-10Hz)

591 NS PGA=59.10000(gal) 50 N PGV=5.20000(cm/s)
0.0 —WWMNM\M s 0.0 —\—-/VMV\/\/\/\/\/\/\/\/W\/\MM
-59.1 - -5.2 -
300 EW PGA=30.20000(gal) 24 EW PGV=2.40000(cm/s)
p— w
© i = n
& 00 £ 0.0
-30.2 - —2.4 -
17.5 -UD PGA=17.50000(gal) 14 UD PGV=1.10000(cm/s)
0.0 _MWMWM‘” v 0.0 -
—175 ¥ T T T T 1 —11 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 : i : 1000.0 4—— — ‘
iFAcc.resp. — NS | Vel resp. — NS
—_ EW | —_— EW
1000.0 100.0
= Q
S 100.0 dmwarray S L 100- AN .
Q b 7\ —_ A N\ A i
<L() 1 \\\ 'é’ R ~—
\ T\ M
10.0 \ \ 1.0 3¢
N
1.0 , = 0.1 . —
0.1 0.2 05 1.0 20 5.0 10.0 01 0.2 05 1.0 20 50 10.0
Period(sec) Period(sec)
I=1 == J EIRV =S . =N Y
J\EENTERZZ (B IRIR) FHAIEFE © 3.87 #&FE 35.4003 #RFE 134.2503
Acceleration Velocity(B.P.F=0.1-10Hz)
1012 NS PGA=101.20000(gal) 3.4 -NS PGV=3.40000(cm/s)
0.0 0.0
-101.2 - -3.4 -
91.8 -EW PGA=91.80000(gal) 09 EW PGV=2.90000(cm/s)
p— w
© i = -
& o0 E 00 —"WWWNM‘VM
-91.8 - -2.9 -
424 -UD PGA=42.40000(gal) 1.3 UD PGV=1.30000(cm/s)
0.0 0.0
—424 T T T 1 —13 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 —— : == ==ttt 1000.0 == : : e
ACC. resp. — NS ?—PéSp. - NS [
-_ EW | _ EW |
1000.0 100.0
- 7 F
5 S NA g
S 1000 AN LS 10.0 4 e
&) - \\\ g 1 >, \\v’\ \-v
N\ ~——
10.0 e 1.0
N
N\
N
10 T T 01 T T T T
0.1 0.2 0.5 1.0 20 50 10.0 0.1 0.2 05 1.0 20 50 10.0
Period(sec) Period(sec)



J\SEET R (B R i) G

Acceleration

S - 4.24 FEFE 35.3914 £ 134.2500
Velocity(B.P.F=0.1-10Hz)

147.1 -NS PGA=147.10000(gal) 56 -NS PGV=5.60000(cm/s)
0.0 0.0
-147.1 - -5.6 -
1413 _EW PGA=141 .30000(gal) 4.2 _EW PGV=4.20000(cm/s)
— (2
& 00 —*mukm " E 00-
-141.3 - 42
57.3 UD PGA=57.30000(gal) 14 -UD PGV=1.40000(cm/s)
0.0 0.0
—573 T T T 1 _14 1 1 T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 4+=— : === =ttt 1000.0 = — === = —=3
ACC. resp. — NS E .- resp. — NS [
— EW | -_— EW |
1000.0 A 100.0
— \ —
& Q :
€ 1000 - N\ LS 100 40”X ST -
8 3 \ >F3 S ; L‘\_’
< >
10.0 A\ 10
N I
Q\\ [
1.0 T T T A 0.1 T T T
01 0.2 05 1.0 20 50 10.0 01 02 05 1.0 20 50 10.0
Period(sec) Period(sec)
BALERTVA(HTRIR) FHAGEE @ 4.40 #&F 35.5136 #%/E 133.9402
Acceleration Velocity(B.P.F=0.1-10Hz)
917 -NS PGA=91.70000(gal) 93 NS PGV=9.30000(cm/s)
0.0 -, 0.0 —\JW”VW/WMW
-91.7 - -9.3 -
79.0 -EW PGA=79.00000(gal) 70 EW PGV=7.20000(cm/s)
p— w
& 0.0+ E 004
-79.0 - 7.2
91.6 -UD PGA=91.60000(gal) 43 -UD PGV=4.30000(cm/s)
0.0 *—W 0.0 -
—916 T T T T T 1 —43 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 ' ' ' = 1000.0 == ' ' e
{Acc. resp. — NS | . resp. —J— nNs |
-_ EW | -_ EW |
1000.0 100.0
g £ \,
% 100.0 - . TN S 10.0 AP ras =S|
g N 2 el
10.0 XV’ 1.0
Si:
AN
10 T T T 01 T T T T
0.1 0.2 05 1.0 20 50 10.0 0.1 0.2 05 1.0 20 5.0 10.0
Period(sec) Period(sec)



« KT-THHET(TTRO0S)

Acceleration

B « 422 HEFE 35.4258 %P 133.3301

Velocity(B.P.F=0.1-10Hz)

605 NS PGA=62.50000(gal) 62 NS PGV=6.20000(cm/s)
0.0 0.0
-62.5 6.2
64.7 EW PGA=64.70000(gal) 8.0 EW PGV=8.00000(cm/s)
f— (2]
§ oo —“WMWWWMWWWMW E 00 MMW\MWWWM
-64.7 - -8.0
375 -UD PGA=37.50000(gal) 25 UD PGV=2.50000(cm/s)
0.0 ‘A——WHMWMWMMW 0.0
_37-5 T T T T T T T 1 _2-5 T T T 1
0.0 100 200  30.0 400  50.0 0.0 10.0 20.0 30.0 40.0
10000.0 4 : ‘ 1000.0 4 : ! :
{ Ace. resp. — s | { Vel. resp. —[— NS
] - —_ EwW | ] —_ EW
1000.0 5 L 100.0 4 5 .
) ] 7(‘ [ @ ] AL .
£
S 1000 oA ’.\Q \ LS 1004 S AR N
<
\\\ >
10.0 NS 10w
1.0 ; 0.1 :
01 02 05 1.0 20 50 10.0 01 02 05 1.0 20 50 10.0
Period(sec) Period(sec)

KA-THIEILHT (B IG1E)

Acceleration

SIS © 4.40 &) 354528 FR)E 133.4193

Velocity(B.P.F=0.1-10Hz)

99.8 NS PGA=99.80000(gal) 98 NS PGV=9.80000(cm/s)
0.0 WWVNWWM%‘#* v 0.0
-99.8 - -9.8 -
62.8 EW PGA=62.80000(gal) 6.9 EW PGV=6.90000(cm/s)
— (2]
[\ _ = ]
s 00 W\NWNWM WVW\NWV\IWWW\»WW E 00 MW"WAM\[\MWMMWWM
-62.8 - -6.9 -
48.1 -UD PGA=48.10000(gal) og UD PGV=2.80000(cm/s)
0.0 s 0.0 'W‘MMNWW’VV\WWMW
—48.1 T T T 1 1 _2-8 1 T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
1000040 E | T ; z ! s ==t 1000.0 ~ T I I L z ’ == ===t
{Ace. resp. — NS Vel resp. — NS
] — EwW } — EW
1000.0 5 100.0
s 4:;7&-4:-\-\ v g N
€ 100,04 A\ LS 10.0 4 ALY T X muulg
8 E TN = I~ i =
< 1 \4\\ > #‘ i
10.0 -\‘ 1.0
\\\
1.0 T 0.1 T T
0.1 0.2 0.5 1.0 20 50 10.0 0.1 0.2 0.5 1.0 20 50 10.0
Period(sec) Period(sec)



BEPE T FaEET(HI61K)

Y
/l

FHIIRELE -
Acceleration

4.12

I 35.5395 R 133.2316

Velocity(B.P.F=0.1-10Hz)

57.8 -NS PGA=57.80000(gal) 6.7 -NS PGV=6.70000(cm/s)
0.0 0.0
-57.8 - -6.7 -
55.4 -EW PGA=55.40000(gal) 70 PGV=7.20000(cm/s)
— w
M | = .
& 00 E 00
-55.4 - -7.2-
36.1 -UD PGA=36.10000(gal) 20 -UD PGV=2.00000(cm/s)
0.0 + 0.0
—361 T T T 1 —20 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 +— : ———tt  1000.0 == ——————="2
1-Ace. peép_- — NS [ 1 Vel. resp. — NS |
_— EW | - EW |
1000.0 100.0
—~ — AN
8 £ AN
S 10004 o > LS 10.0- SN N
\ A
] N I ]
10.0 ol 1.0 R
N
1 N
1.0 N 0.4
0.1 0.2 05 1.0 20 50 10.0 0.1 0.2 05 1.0 20 5.0 10.0
Period(sec) Period(sec)
RILETHERE(EVAR) FHAGEEE @ 3.77 & 355110 #RE 133.4963
Acceleration Velocity(B.P.F=0.1-10Hz)
507 -NS PGA=52.70000(gal) 53 NS PGV=5.30000(cm/s)
0.0 0.0
-52.7 - -5.3
473 -EW PGA=47.30000(gal) 5.8 -EW PGV=5.80000(cm/s)
— w
] ] = .
& 00 E 00 ’\/WW\/V\NW\//\/\M
—-47.3 - -5.8 -
420 -UD PGA=42.20000(gal) 57 UD PGV=2.70000(cm/s)
00| om———WWMM%WWWWWW$
—422 T T 1 1 _27 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
1000040 E| T ; z ! == ===t 100040 ~ i I I ; z ’ == ===t
{Ace. resp. — NS Vel resp. — NS
] —_— EW | —_ EW
1000.0 100.0
T Q
£
S 1000 PRA A LS 10.0 4 DDA s
Q A T) \./ I~
< > oy Fa.
] ~ \Y~_4
10.0 < 1.0
\\
1.0 ; 0.1 T T
01 02 05 1.0 20 50 10.0 01 02 05 1.0 20 50 10.0
Period(sec) Period(sec)



KILETHRE (BRI FHAERE @ 425 F51% 35.5241 #4)F 133.5844

Acceleration Velocity(B.P.F=0.1-10Hz)
717 -NS PGA=71.70000(gal) 5.3 -NS PGV=5.30000(cm/s)
0.0 0.0
-71.7 - -5.3 -
109.1 -EW PGA=109.10000(gal) 8.6 -EW PGV=8.60000(cm/s)
— 2
8 0.0 E 00
-109.1 - -8.6 -
95.9 -UD PGA=95.90000(gal) 39 -UD PGV=3.90000(cm/s)
0.0 0.0
—959 T T T T T T T 1 —39 T T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 — : 1t 1000.0 —F————+ I
Acc. resp. — NS [ Vel .resp. —f— NS
—_ EW | —_ EW
1000.0 100.0
— N\ —
K =4 '\f"\\, g /‘ p Wy ™
O] JN\/ —~
= 100.0 ; FS  10.0 3 DA NONS : It
8 ™ 6 1 J S — = =t
< \) L~ > 4
M\ W’ N
N2
10.0 5 O 1.0 5
O
N
10 01 T T T T
01 0.2 05 1.0 20 50 10.0 01 02 05 1.0 20 50 10.0
Period(sec) Period(sec)

KILETRE(BIBE) FHHIEERE : 3.94 #5E 35.4807 #RJE 133.4596

Acceleration Velocity(B.P.F=0.1-10Hz)
71.9 NS PGA=71.90000(gal) 48 NS PGV=4.80000(cm/s)
0.0 0.0 NW\WNV\AMVJWMAM
-71.9 -4.8 -
113.8 EW PGA=113.80000(gal) 6.0 -EW PGV=6.00000(cm/s)
— 2
[ = .
8§ oo E 00
-113.8 -6.0 -
37.1 -UD PGA=37.10000(gal) 20 -UD PGV=2.00000(cm/s)
0.0 0.0
—37.1 T T T T T 1 —2.0 T T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 A ======: : 1000.0 == '
Ace.resp. — NS | { Vel. resp. — NS
— EW | —_ EW
1000.0 Rl ! - 100.0
= @
[ S =
£
S 100.04 AT N LS 10.0 4pmn A, - N\ .
g =i S5 o~ t & E NS T =
< i — > v—~
10.0 = _ 1.0 4
LT
1.0 T T » 0.1 T
0.1 02 05 1.0 20 50 10.0 0.1 0.2 05 1.0 20 5.0 10.0

Period(sec) Period(sec)



H FEHTZE [LI(TTR0O09)

Acceleration

cm/s

1000.0 5

25 -NS
0.0
-2.5 -
2.8
0.0 1
-2.8 -
1.0
0.0

FHRIER - 3.68 F&AE 35.1708 &P 133.3113

Velocity(B.P.F=0.1-10Hz)
PGV=2.50000(cm/s)

PGV=2.80000(cm/s)

PGV=1.00000(cm/s)

-1.0

0.0

T 1
10.0 20.0 30.0 40.0

= %

— NS

—_ Ew |

100.0

10.0

o

>

N,
M

0.1

0.1

05 1.0 20

Period(sec)

0.2 5.0 10.0

SHHER ;- 3.85 FEE 35.1631 #JF 133.3062

897 NS PGA=89.70000(gal)
0.0
-89.7 -
133.5 _EW PGA=133.50000(gaI)
i 001
-133.5 -
237 -UD PGA=23.70000(gal)
0.0
-23.7 T T T T T T 1
0.0 10.0 20.0 30.0 40.0 50.0
10000.0 4= : e
Acc. resp. — NS |
—_ EW
1000.0
~ A0 _
® N g
S 100.0 4 S\ LS
3 \ 5
< >
] O AN [
10.0
\\\
A\
i e N
1.0 : /\>‘
01 02 05 10 20 50 10.0
Period(sec)
= N
H FEFHTER (B 1R1K)
Acceleration
3.6 -NS PGA=83.60000(gal)
0.0 na “: "
-83.6 -
971 -EW PGA=97.10000(gal)
8 00 vt
-97.1 -
8.5 -UD PGA=28.50000(gal)
0.0
—285 T 1 1 1
0.0 10.0 20.0 30.0 40.0
10000.0 : : ]
Acc. resp. — NS [
I _— EW |
1000.0 : !
= A(\«\ ’g
S 10004\ 5
g 3
< \\ >
~ -
10.0 ;\\,.n
¥<~\
1.0 T : .
01 02 05 10 20 50 10.0

Period(sec)

cm/s

29 -NS
0.0 1
-2.9 -
2.8 EW
0.0 1
-2.8 -
0.9 UD

0.0

Velocity(B.P.F=0.1-10Hz)
PGV=2.90000(cm/s)

PGV=2.80000(cm/s)

PGV=0.90000(cm/s)

-0.9
0.0

T T T 1
10.0 20.0 30.0 40.0

Il

1000.0 -

I ———mmmm

- NS

_ Vel

. resp
i — EW

100.0

10.0 5

N

~ N

0.1

0.1

05 10 20
Period(sec)

0.2 5.0 10.0



HEFRTIR RSB 1AA) FHEERE : 4.17 #5E 35.2406 #RJE 133.4427

Acceleration Velocity(B.P.F=0.1-10Hz)
0.0 —quw 0.0 —v“"wwwv»w%
-149.2 - =51 -
83.9 -EW PGA=83.90000(gal) 38 -EW PGV=3.80000(cm/s)
— 2
[ i . Y |
& o0 it E 00
-83.9 - -3.8 -
48.2 -UD PGA=48.20000(gal) 1.4 -UD PGV=1.10000(cm/s)
0.0 " 0.0 —MWWMM\,NWNW
_48-2 T T T I I —1.1 I T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 —=====; : 1000.0 A ; == -
Acc.resp. — NS | Vel resp. — NS
i Ew | 1 i EW
1000.0 i=====5 = ====1 100.0 4 : ==
= O e i g — |
O
FRE o S el NS =
2 N o W i =7 —
100 i i = NG e e e e o = 10 E
1.0 —— T — 0.1 - -
0.1 0.2 05 1.0 20 50 10.0 0.1 0.2 05 1.0 20 50 10.0
Period(sec) Period(sec)

ICHFRTIT R (B IRR) FHEIEERE @ 3.94 f# 35.2833 #% 133.4888

Acceleration Velocity(B.P.F=0.1-10Hz)
90.9 -NS PGA=90.90000(gal) 4.0 -NS PGV=4.00000(cm/s)
0.0 0.0
-90.9 - -4.0
84.0 -EW PGA=84.00000(gal) 28 -EW PGV=2.80000(cm/s)
—_ 12
[] ] = -
o 00 HWWMWW E 00
-84.0 - -2.8 -
50.2 -UD PGA=50.20000(gal) 16 -UD PGV=1.60000(cm/s)
0.0 0.0
—502 T T T 1 _16 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 +=— ' ———t—+  1000.0 = ; i
ACC. ;e§p. - NS | 1 P- - NS [
—_— EW | 1 -_ EW |
1000.0 100.0
g A ‘\"\ g
S 1000 S 100 AN -
Q F— k. — N P
é(’ \ ;-’ 1 — YN
VAN [ ]
10.0 \‘ 1.0
‘\‘ A N
AV A
\“
1.0 0.1 1
01 02 05 1.0 20 50 100 0.1 02 05 1.0 20 50 10.0

Period(sec) Period(sec)



S BUFFRET E 5 =r (B 161 FHURREE : 3.55

Acceleration

Period(sec)

Y
/l

54.4 -NS PGA=54.40000(gal)
0.0
-54.4 -
64.4 -EW PGA=64.40000(gal)
& 00 . £
o o
—-64.4 -
217 _ub PGA=21.70000(gal)
0.0
-21.7 ‘ . . 1
0.0 10.0 20.0 30.0 40.0
10000.0 4— : : — 1
i-Ace. resp. — NS
—_— EW
1000.0
] ah 2
g 1000 MO s
< N\ 2
b NSRER WAV
10.0 + — -
\ \\\‘
\ N
N~
1.0 .
01 02 05 1.0 20 50 10.0
Period(sec)
) = N = LOH = . y
ST R (B IRE) FHIEEE © 3.87
Acceleration
57.5 -NS PGA=57.50000(gal)
0.0
-57.5 -
95.9 -EW PGA=95.90000(gal)
T 0.0 - " g
(D o
-95.9 -
43.0 -UD PGA=43.00000(gal)
0.0 Mottt
—430 T T T 1
0.0 10.0 20.0 30.0 40.0
10000.0 A : ==——————=3
{ Acc. resp. — s |
— EW i
1000.0 +
S WSV g
S 1000 KAy 23
< ' g
10.0 7~ 3
1 =~ \ \\~~ s
_ { -\\ \\\.
1.0
0.1 0.2 05 1.0 20 50 10.0

FIE 35.3403 FRJE 133.3271

Velocity(B.P.F=0.1-10Hz)

29 NS PGV=2.90000(cm/s)
0.0 _/NWWWAM
-2.9 -
18 -EW PGV=1.80000(cm/s)
0.0
-1.8 -
0.6 -UD PGV=0.60000(cm/s)
0.0
—06 T I T 1
0.0 10.0 20.0 30.0 40.0
000.0 4=——3 : ey
Vel. resp. — NS [
—_— EW |
100.0
10.0 — _
ORI S =
W/ SN
4
1.0
0.1 T T
0.1 0.2 05 10 20 50 10.0
Period(sec)

I 35.3706 FRE 133.3617

Velocity(B.P.F=0.1-10Hz)

30 -NS PGV=3.20000(cm/s)
0.0
-3.2 -
40 EW PGV=4.20000(cm/s)
0.0
4.2 -
1.0 -UD PGV=1.00000(cm/s)
0.0
—10 T T T 1
0.0 10.0 20.0 30.0 40.0
1000.0 A ==—————==3
i Vel. resp. — NS |
100.0
10.0 o A s
o~ S——
< e
_w il
1.0 4 3
0.1
01 02 05 10 20 50 10.0
Period(sec)



N EXRy:TR= =g . e Y
HEN EHRE(HIBI) FHHIERE : 426 ##)F 35.3852 R4 133.4074
Acceleration Velocity(B.P.F=0.1-10Hz)
605 NS PGA=60.50000(gal) 49 NS PGV=4.90000(cm/s)
0.0 0.0
-60.5 - -4.9 -
105.7 -EW PGA=105.70000(gal) 59 EW PGV=5.90000(cm/s)
p— w
8 0.0 _"’W'WNW}"L g 0.0 _MWWY\M‘WJWWWW
-105.7 - -5.9 -
60.4 -UD PGA=60.40000(gal) 26 -UD PGV=2.60000(cm/s)
0.0 WW " ” 0.0 M%WW/MWW
—604 T T T T T 1 —26 T T T T T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 - ! : ! — 1000.0 =] j S
Acc. resp. t — NS &Ee]:rés'p. — NS [
— EW | —_ EW |
1000.0 4 : L 100.0
— 1 ‘ 7\ F
8 S E PZANY
S 1000 = N\ S 100 A= NS
8 N 3 \ ‘,4;' =
< X > 7
10.0 \ \ 1.0
“\ “\
\
10 T T — 01 T T T
0.1 02 05 1.0 20 50 10.0 0.1 0.2 05 10 20 5.0 10.0
Period(sec) Period(sec)
3 N =L = . 4
HENTHE D (B TAR) FHEIEEE @ 4.00 #55F 35.3460 R4 133.4365
Acceleration Velocity(B.P.F=0.1-10Hz)
93.9 NS PGA=93.90000(gal) 54 NS PGV=5.40000(cm/s)
0.0 “"’WWW” 0.0 /WMW\MWWMM
-93.9 - -5.4 -
58.9 -EW PGA=58.90000(gal) o5 EW PGV=2.50000(cm/s)
p— w
S oo umwww b e E 007
-58.9 - 25 -
575 -UD PGA=57.50000(gal) 1.6 -UD PGV=1.60000(cm/s)
0.0 0.0
—575 T T T T 1 —16 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 A : ———t+—  1000.0 ==—————==3
Ace. peé}'\_i — NS | Vel.r Sp. — NS |
—_ EW | —_ EW |
1000.0 100.0
—_ A\ —_
© \\\ kY
9 000 AN LS 1004 PLOAVIN 3
2 ] YAAAN o 7 N
10.0 \v/\\:'\‘ L 1.0 4 |
B ‘\-:\-—-\.\\ N
1 N
] = N
1.0 AN 0.1
0.1 0.2 0.5 1.0 20 50 10.0 0.1 0.2 0.5 1.0 20 5.0 10.0
Period(sec) Period(sec)



FRHT R (B TR1E)

SR © 2.77 & 353401 FR)E 134.4009
Acceleration Velocity(B.P.F=0.1-10Hz)

33.6 -NS PGA=33.60000(gal) 15 -NS PGV=1.50000(cm/s)
0.0 Mo 0.0 4
-33.6 - -1.5-
500 _EW PGA=52.00000(gal) 0.8 -EW PGV=0.80000(cm/s)
—_ (2]
& 0.0 2 E 001
-52.0 - -0.8 -
243 -UD PGA=24.30000(gal) 09 -UD PGV=0.90000(cm/s)
0.0 W 0.0 -
-24.3 T T T T T 1 -0.9 T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 : et 1000.0 == — ———=====3
—Acc. resp. — NS | ] . resp. — NS |
—_— EW —_— EW [
1000.0 100.0
T Q
© =
£
S 1000 PN\ s S 100+
o SR °
< ‘A\DC“ > ~
] | VN o,
/N A .
10.0 AN 4. 1.0 e NI N
._‘;;‘
JQ [ [
1.0 1 ™ 0.1 — .
01 02 05 1.0 20 50 10.0 0.1 02 05 1.0 20 5.0 10.0
Period(sec) Period(sec)
JVBERTACIL(ERER) FHAEEEE : 3.24 F&FE 353626 #RE 134.3566
Acceleration Velocity(B.P.F=0.1-10Hz)
579 -NS PGA=57.90000(gal) 18N PGV=1.80000(cm/s)
0.0 AWMWMNQ 0.0 -
-57.9 - -1.8 -
60.2 -EW PGA=60.20000(gal) 13 EW PGV=1.30000(cm/s)
p— w
& 0.0+ - £ 00
-60.2 - -1.3 -
30.9 -UD PGA=30.90000(gal) 1.0 JUD PGV=1.00000(cm/s)
0.0 *WM%;; 0.0
—309 T T T T T 1 —10 T T T T T 1
0.0 10.0 20.0 30.0 40.0 0.0 10.0 20.0 30.0 40.0
10000.0 + . : ' = 1000.0 ' ' ! ===
Aec resp. — NS ﬁEe]:res;,-. = NS [
-_ EW | _ EW |
1000.0 » 100.0
3 g
S 1000 .\y.\.“ LS 100
o ) A\
< > 7 ¥
A Y N ==
10.0 =\ 1.0
M o~
\
10 T T \ 01 T T T 1
0.1 0.2 05 1.0 20 50 10.0 0.1 0.2 05 1.0 20 5.0 10.0
Period(sec) Period(sec)



H #(TTRHO02)

Acceleration
00.7 -NS PGA=90.70000(gal)
0.0 WMW
-90.7 -
81.8 -EW PGA=81.80000(gal)
S 00 £
(:) o
-81.8 -
46.5 -UD PGA=46.50000(gal)
0.0 -
—465 v T T T N T T 1
0.0 10.0 20.0 30.0 40.0 50.0
10000.0 4— : : —
Acc. resp. — NS
—_— EW
1000.0
] A /. 2
~ £
S 1000 \“ N\ 5
g "N &
10.0 N
\ T
N
1.0 - )
0.1 02 05 10 20 50 10.0
Period(sec)
J# M (TTRHO3) FHAIEEREE : 5.16 f&#EE 35.3553
Acceleration
197.0 _NS PGA=197.00000(gaI)
0.0
-197.0 -
162.6 -EW PGA=162.60000(gal)
. X
; 0.0 £
o
-162.6 -
68.4 -UD PGA=68.40000(gal)
0.0 —WWM‘—
—684 T T T T 1
0.0 10.0 20.0 30.0 40.0 50.0
10000.0 4— —— '
Acc. resp.— — NS
— EW
1000.0 o i
R AN /7 \ -
= K]
£
< 1000 \ S
s} o)
< N
N \C >
10.0 \:
NG
AN
N
1.0 — -
01 02 05 1.0 20 50 10.0

Period(sec)

SHAIELE - 3.94 f#)F 352313 FR)E 133.3909
Velocity(B.P.F=0.1-10Hz)

41 NS GV=4.10000(cm/s)
0.0
-4.1 -
57 EW PGV=2.70000(cm/s)
0.0 \—«WMWWWMW
-2.7 -
18 UD PGV=1.80000(cm/s)
0.0
_1 8 T T T T T T 1
0.0 10.0 20.0 30.0 40.0
1000.0 4=— e R
] - Tresp. — NS [
-_— EW |
100.0
100 E \“ 'l./ d—\\‘
:# / e e N
R/
1.0
0.1 - — .
0.1 0.2 0.5 1.0 20 50 10.0
Period(sec)
TR 133.4918

20.6 NS

Velocity(B.P.F=0.1-10Hz)
PGV=20.60000(cm/s)

AW

0.0
-20.6 -
14.6

WV

PGV=14.60000(cm/s)

0.0
-14.6 -
2.2
0.0

PGV=2.20000(cm/s)

-2.2
0.

T T 1
20.0 30.0 40.0

1000.0 +

100.0 5

10.0

N

n.!

<\E

1.0

0.1
0.1

05 1.0 20 5.0 10.0

Period(sec)

0.2



TRAG(TTRHO4)

B « 4.76 HEFE 35.4668 %P 133.6307

Acceleration

Velocity(B.P.F=0.1-10Hz)

159.4 -NS PGA=159.40000(gal) 12.6 -NS PGV=12.60000(cm/s)
0.0 0.0
-159.4 - -12.6 -
210.6 -EW PGA=210.60000(gal) 11.0 -EW PGV=11.00000(cm/s)
. 2]
500 aﬁ%:-*: o £ 00 \——\IWWW\JWW\/W
(8]
-210.6 - -11.0 -
195.0 -UD PGA=195.00000(gal) 4.5 -UD PGV=4.50000(cm/s)
0.0 1 v 0.0 "—"WW%M\/WW‘A
—1950 T T T T 1 _45 T 1 T 1
0.0 10.0 20.0 30.0 40.0 50.0 0.0 10.0 20.0 30.0 40.0
10000.0 ' + Lk 1000.0 +— : e
—Acc. resp. — NS Vel. resp. — NS
— EW | — EW
1000.0 100.0
= i% X ,\g ~./4(:\
S 1000 2N\ LS 10.0 PRt -
< N\ 2
10.0 < 1.0
N
1.0 : 0.1 .
01 02 05 1.0 20 50 10.0 01 02 05 10 20 50 10.0
Period(sec) Period(sec)
IE(TTRHO6) ZHAIZEEE : 4.19 #JE 35.3946 % 134.1988
Acceleration Velocity(B.P.F=0.1-10Hz)
159.8 _NS PGA=159.80000(gaI) 52 _NS PGV=5.20000(cm/s)
0.0 0.0
-159.8 - -5.2 -
101.8 -EW PGA=101.80000(gal) 38 -EW PGV=3.80000(cm/s)
. w
i 0.0 € 0.0
o
-101.8 - -3.8 -
504 -UD PGA=50.40000(gal) 1.8 UD PGV=1.80000(cm/s)
0.0 0.0 -
—504 T T T T 1 —18 T T T 1
0.0 10.0 20.0 30.0 40.0 50.0 0.0 10.0 20.0 30.0 40.0
10000.0 4 — bt 1000.0 4 — -
FAce. resp.— —{— Ns Vel resp. —J— nNs [
—_ EW —_— EW |
1000.0 : 100.0
—_ =4 >\ —_
T d N g
S 10004 "R\ S 100 __.M{f e
< — 3 / ==
A
10.0 o 1.0
E N
"
1.0 ‘ 0.1 . .
01 02 05 1.0 20 50 10.0 01 02 05 10 20 50 10.0
Period(sec) Period(sec)



.

B4 (TTRHO7)

Acc.(Gal)

Acceleration

FHHIERS - 4.74 & 35.3649

178.2 _NS PGA=178.20000(gal)
0-0 . AvabMA ‘A'
178.2 -
185.5 _EW PGA=185.50000(gaI)
@
0.0 ol N IS
S
185.5 -
150.2 UD PGA=150.20000(gal)
0.0 o po
150.2 T T T T T 1
0.0 10.0 20.0 30.0 40.0 50.0
10000.0 4= : e
ACC. eép. — NS [
_— EW
1000.0
VA
\ —
4
IS
100.0 i FS
N \\ E’
10.0 NN
\\
] .\\_
1.0 —
0.1 0.2 05 10 20 50 10.0
Period(sec)

FEPE 133.7486
Velocity(B.P.F=0.1-10Hz)

18.0 -NS PGV=18.00000(cm/s)
0.0 ———/\/WMMMW
-18.0 -
10.0 -EW PGV=10.00000(cm/s)
0.0
-10.0 -
6.0 -UD PGV=6.20000(cm/s)
0.0 1
-6.2 T T T T T 1
0.0 10.0 20.0 30.0 40.0
1000.0 4= = e e
] P- — NS [
-_— EW |
100.0
e ———
e M;\ ~
10.0 .“"('
1.0
0.1 —
01 0.2 05 1.0 20 50 10.0

Period(sec)



